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SAY/IMPROVEMENT
Part-1I

RUSSIAN
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General Instructions to Candidates :
® Thereis a ‘cool-off time’ of 15 minutes in addition to the writing time of 2% hrs.

® You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.

® Read questions carefully before answering.
® All questions are compulsory and only internal choice is allowed.

® When you select a question, all the sub-questions must be answered from the same
question itself.

® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

1. Describe the picture given below
Model sentences —

VY Hac HeOombIasi, HO OYeHb APYKHAS ceMbsi. MbI 1I0OUM BeduepoM OBITH JOMa, BCE
BMecTe. S 0ObIMHO CHKyY B Kpeciie (Y MeHsI €CTh JIF0OMMOe Kpecio) U yntaro. Moi ChiH
CHIUT PSIZIOM Ha JMBaHE M TOXe YuTaeT. Most 'KeHa OOBIYHO BSKET U CHIYIIAET Paguo
WA TOXKE UUTAET. (Scores : 8)
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II. The following is the details regarding the life of M.V. Lomonosov. Using the given

information write a profile in about 60 words.

Hint : JlomoHocoB Muxaun BacuibeBud reHUaNbHbIN PYCCKUN y4Y€HBIH BO MHOTHX
OTpacCysiX 3HAHUM, MO3T, IPOCBETUTENb, OJMH U3 CaMbIX BBIJAKOLIUXCS CBETUJI MUPOBOU
Hayku. ['eHmampHble CIOCOOHOCTH, TIiyOOKash JOOOBb K Hayke, HEH3MEHHOE
TpyaoaoOue, ITUIAMEHHBbIH MaTPHOTH3M, HEMPEKJIOHHAs TBEPAOCTb BOJIU TIPHU
JOCTH>KEHHUH LIeNIN - BOT OTAN4UTeNbHbIE 4epThl JJomoHocoBa. Kak yuensiit JIomoHnocos
OTJIMYAJICS HEOOBIYalfHOW IMIMPOTOW HWHTEPOCOB — OOOraTHJ CBOUMH OTKPBITHSIMU
¢u3nKy, XHMHIO, AaCTPOHOMHIO, reorpapuio, TEXHUKY, TEOJIOTHIO, HCTOPHIO,

dunocoduro. (Scores : 8)

III. Read the passage and answer the given questions :

ITymwkus poxuicsa B Mockse B 1799 r. Manenbkuil Anekcanap JrOOMI CIymIaTh
ckasku. Ero HsHSA kakabl NE€Hb pacckasblBajla €My WHTHPHCHbIE CKasku. Ilymkun
o4eHb mooua HaHK. OH "acTo nucan cTuxu o HiHe. [IymkuH nucan Xxopoume aeTcKue

ckasku. [ToaTomy nmetu odeHsb o0sT [IylkuHa U €ero CKa3KH.

[TymwkuH natpuoT. OH oueHb mroOmn Poccuro m e€ Hapox. OH mucanm CTUXH O
Poccuu u o nHapone. Ilymkun Hucanx u o cBobome. Ero poman «EBrenuit OHerun»

oueHb u3BecTHBIN. [lymkun ymep B 1811 r.

(a)  D'me Ilywkun poauncs ?

(6) O xowm IlymwkuH nucan cTuxu ?

(8) O uém oH nucan ?

(r)  Ilouemy nmeru moOst Ilymkuna ?

(n)  Kro namucan poman «EBrenuit Onern» ?

(e)  Korga Ilymkun ymep ? (Scores : 6)

IV. How would you inform your brother over telephone that he must reach home early.
Use the given hints.

Amo! Toporoii Opart!
HUntu nomoiil (Scores : 8)
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V. Translate into English :
B yHuBepcurere xopormast croioBast. CTyOeHTHI — Bceraa oOenaroT TaM.

Kornma koHYarOTCsi 3aHSATHS, CTYAEHTBl HAYT B CTOJOBYKO oOemath. OmHa
CTOJIOBasi BHU3Y, Apyras HaBepxy. Kaxplii cTyaeHT BeIOHpaer oben mo CBOeMy BKYCY.
B ctonoBoii ObiBaeT 00Ol BbIOOpP. AHTOH OepéT Ha MepBOE CYII, HA BTOPOE MSICO C
pucoM, Ha Tperbe koMmror. Ero apyr JlxxoH moOut peidy. O Oepét Oopui, peidy ¢
KapTokoi u vai. Korna oHu KOH4YAKOT 00enaTh, OHM HAYT B OMOJMOTEKY W JENaroT
nomainHee 3aaanue. OHU BO3BPALIAIOTCS B OOLIEKUTHE OUEHB TIO3/THO. (Scores : 8)

VI. Peter meets his friend John at a shop. Develop a conversation between the two. Use the
given expressions.

IIpuser!
Koro s Buxy!

Ouens cnemry! I1opa gomoit! IToka! (Scores : 8)

VII. Narrate about your family using the following hints.
Cembsi- HeOObIIASI, XOPOLLIAS.

Ponurenu sxuByT BMECTE, JTIOOIIO CEMBIO. (Scores : 8)

VIII. Make meaningful sentences using the given words in the past.
(1)  JIxoH xoporuo/ roBOpHT/ O-PyCCKA
(2)  Pomurenw/ cMotpeTs/ TeneBU30p / 1oM
(3)  Crynent/ yuutbcest / KOIIEIXK
(4)  Urpars B potd0a / cTanNOH / MaIbYUK

(5) JHenyuka / otasixathb / Kiy0 (Scores : 5)

IX. Summarize the given passage :

Uro mbl penaem Ha ypoke? Mol uuraem TtekcT. [lorom mnpenopasarens
CTpaIlMBaeT, a Mbl OTBedaeM. J[PKOH paccka3blaeT TEKCT OBICTPO U MPABUIIBHO, OH
xopowo 3HaeT cioBa. Korma oH oTuewaer, Mbl ciymaeM BHHMartenbHO. [lotom
npenoaaBareib OOBACHIET yPOK. Mbl IOHUMAEM IJIAroJbl, MMUMIEM AUKTAHT, TOBOPHM
no-pyccku. Bee cTyaeHTsl paboTarT XOpOoLIo. (Scores : 8)
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Imagine that you have received the following letter from your friend. Write a reply to
the letter.

15 aBrycr 2016
Mocksa
Hoporas,

3npascryiite! Hanetoch, 94TO TBOM Aena UAYT XOPOIIO. 37€Ch MOSI KU3Hb TOXKE
UAET KakK Bceraa. S xouy 3HaTh, Kak Bbl kuBETe? Kak 3mapoBbe?

Celiuac s xuBy B MockBe. 3xech oueHb Xxopouas noroxa. S xouy
npuriacuth Teds Ha AeHb poXKIeHs. Mama 1 mamna KayT TeOs.

Bcero nobporo!

Bam npyr! (Scores : 8)

Insert the verbs craButh, Bewmars, k1acte in the appropriate form.

(1 A... MaJIbTO B IKad.

2 ... MOM BEIU Ha MOJIKY.

3 A... JIaMITy Ha CTOJL.

4 .. TeTpamu B MOPTdeEns.

(5)  Mbl BbIOUpaeM CBOOOIHBIN CTOM H ....... Ha CTOJI TAPENIKU U CTakaHbl.  (Scores : 5)
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Maximum Score: 80

70/3
SCORING INDICATORS
CodeNo=3
On. Scoring Indicators Split | Total
No. score score
1 If a candidate has written eight sentences describing the 1x8 8
picture correctly - can be awarded 8 score
2 If a candidate has written the details regarding a profile 1x8 8
in about 60 words can be awarded 8 score.
3 If a candidate has written 6 answers of the questions 1x6 6
correctly can be awarded 6 score.
4 If a candidate has written a telephonic conversation 1x8 8
correctly in eight sentences- can be awarded 8 score.
5 If a candidate has translated the passage correctly — can 1x8 8
be awarded 8 score
6 If a candidate has written a conversation correctly —can |1x8 8
be awarded 8 score
7 If a candidate has written about his/her family correctly |1x8 |8
can be awarded 8 score
8 If a candidate has written five sentences correctly canbe |[1x5 5
awarded S score
9 If a candidate has summarized the passage correctlycan | 1x8 8
be awarded 8 score . ]
10 If a candidate has written a reply correctly can be 1x8 8
awarded 8 score
11 If a candidate has inserted the verbs correctly can be 1x5 5
awarded S score _
Total questions 11 Total 80 .
score






